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1 | 0057830 Zibskie By |PEP 100 %KL 20 20 41k — LB60/LB60 1 1 1 1 2 2.4 1.8
2 | 0017601 Ribski®| E¥ |PEP 100 #FL| 20 13 |41k — LB60 %1k |LB60 1 1 1 2 1 1 1 3.0 1.8
3 | 0017605 Zibskig|#E& X% PEP 100 #FiL| 20 — 41k — LB60|VPJ 1 1 1 1 1 1 2.4 1.8
4 | 0048872 |Zitsk#e| Ei¥h |PEP 100 “Ku| 20 13 431k — LB60|LB60 1 1 1 1 1 1 2.4 1.8
5| 0017607 ™Wit/k#e| HBi¥R |PEP 100 #Ku| 20 13 431k, — LB60 %31k LB60 1 1 1 2 1 1 1 3.0 1.8
6 | 0017609 Wit/k#e| HBi¥: |PEP 100 #FKu| 20 13 431k| — LB60 %31k LB60 1 1 1 2 1 1 1 2.7 1.5
7 | 0042238 Aibskie| Bi¥R |PEP 100 K| 20 20 41k — LB60 431k LB60 1 1 1 2 2 1 2.7 1.5
8 | 0017610 WiLtsk#¢| HBi¥h |PEP 100 %Kil 20 20 41k — LB60|%3 1k LB60 1 1 1 2 2 1 2.7 1.5
9 | 0017599 Ribskie| HE¥ |PEP 100 #FuL| 20 13 |41k| — LB60 %1k |LB60 1 1 1 2 1 1 1 6.3 5.1
10 | 0034470 Pibskig| Bi¥R |PEP 100 “ki| 20 20 41k — LB60 431k LB60 1 1 1 2 2 1 6.3 5.1
11| 0035460 Ait/kie HBi¥: |PEP 100 #Fu| 20 13 41k — LB60 41k LB60 1 1 1 2 1 1 1 6.3 5.1
12| 0017604 MAit/k#e| Bi¥R |PEP 100 #Ku| 20 13 431k, — LB60 %31k LB60 1 1 1 2 1 1 1 6.3 5.1
13| 0019566  Pibski®| Bi¥h |PEP 100 “kiL| 20 20 41k — LB60 431k LB60 1 1 1 2 2 1 6.3 5.1
14| 0052097 |Zibskie| Bi¥h |PEP 100 #Ki| 20 20 41k — LB60/LB60 1 1 1 1 2 5.7 5.1
15| 0026739 ™Mit/kie| Byt |PEP 50 #Fi| 20 20 |41k — LB60 41k LB60| 1 1 1 2 2 1 4.8 3.6
16| 0017611 Ait/k#e| Bi¥R |PEP 100 #Ku| 20 13 431k, — LB60 %31k LB60 1 1 1 2 1 1 1 2.6 1.4
17| 0017612 | Zibskid|#E& X4 PEP 100 %KL 25 — 4¥1E — LB60|VPJ 1 1 1 1 1 1 2.1 1.4
18| 0017608 |Ait/ki| By |PEP 50 #Fu| 20 13 |41k — LB60 41k LB60| 1 1 1 2 1 1 1 2.4 1.2
19| 0017615 | Z1bK# &E&-X% PEP 100 “Fiu| 25 — 41k — LB60 VPJ 1 1 1 1 1 1 2.1 1.4
20| 0017616 #it/k#| By |PEP 100 #Ku| 20 13 431k — LB60|%1E|LB60 1 1 1 2 1 1 1 2.6 1.4
21| 0017499 &it/k#| B¥: |PEP 100 #Ku| 20 13 41k — LB60|% 1k |LB60 1 1 1 2 1 1 1 2.6 1.4
22| 0043959 Zibk#e| Bi¥h PEP 100 #FL 20 20 41k — LB60 LB6O 1 1 1 1 2 7.0 6.4
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1 | 0057830 ZibsK#e By PEP 100 HKJL. 20 20 41k —  LB60| LB60 1 3 1 24
2 | 0017601 AiEskie E¥  PEP 100 HK)L 20 13 4l — LB60| oIk LB60 1 4 1 1 3.0
3 | 0017605 Zibskit E&- X% PEP 100 HK)L. 20 — 41k — LB60| VPJ 1 2 1 2.4
4 | 0048872 Zitskte H¥ | PEP 100 |[HK)L| 20 13 4k —  LB60 | LB60 1 1 2 1 2.4
5| 0017607 AiEskie E¥  PEP 100 HK)L 20 13 4l — LB60| oIk LB60 1 4 1 1 3.0
6 | 0017609 Aitskit HB¥ PEP 100 YKL 20 13 41k — LB60| 91k LB60 1 4 1 1 2.7
7 | 0042238 Wibsk#e B3 | PEP 100 [HRJL 20 20 ik —  LB60| ZiE  LB60 1 4 1 1 2.7
8 | 0017610 AibkK#® Hi¥  PEP 100 HK)L 20 20 41 — LB60| 731k LB60 1 4 1 1 2.7
9 | 0017599 Ri/kie HB¥ PEP 100 YKL 20 13 41k — LB60| AiE  LB60 1 4 1 1 6.3
10 | 0034470 R/ibskKiée HB¥  PEP 100 HKJ)L) 20 20 %Hi — LB60| 731k LB60 1 4 1 1 6.3
11| 0035460 RWibsKiée HBi¥ PEP 100 HkJ)L 20 13  Hik — LB60| 4r1E LB60 1 4 1 1 6.3
12| 0017604 @HiE/ki& HBY¥  PEP 100 #KJL| 20 13 41k — LB60| 91t LB60 1 4 1 1 6.3
13| 0019566 MibKie HBi¥  PEP 100 YKL 20 20  %Hi | — LB60| 731k LB60 1 4 1 1 6.3
14| 0052097 Zik/k#: B  PEP 100 HkJ)L 20 20 41k —  LB60 | LB60 1 3 1 5.7
15| 0026739 JWibkie HB¥ PEP 50 HkJ)L 20 20 Hik — LB60| 4riE LB6O 1 4 1 1 4.8
16 | 0017611 Pibski® HB¥  PEP 100 YKL 20 13  Hik — LB60| 731k LB60 1 4 1 1 2.6
17| 0017612 Zitski® E&-X% PEP 100 |HK)L 25 — 41| — LB60 | VPJ 2 2.1
18| 0017608 ibskie By PEP 50 HK)L 20 13  Hi | — LB60| S LB60 1 4 1 1 2.4
19| 0017615 Zitski® E&-%X% PEP 100 HK)L 25 — &1 — LB60 VPJ 2 2.1
20| 0017616 PlE/K¥E H¥ | PEP 100 k)L, 20 13 41k | — LB60| 41k LB60 1 4 1 1 2.6
21| 0017499 AiKiE B¥ | PEP 100 HFJ)L 20 13 41k — LB60| 41k LB60 1 4 1 1 2.6
22| 0043959 Zibsk#e Hi¥ | PEP 100 YKL 20 20 4E | — LB60 LB60 1 3 1 7.0
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1| 0057830 |Zibskig| 097 0.60 # K-50P-800 |  0.44 2.0 1.7 0.55 055 | 0.028 1.0 0.6 0.43 1.94 | 0.0033 0.53 053 | 0.027
2 | 0017601 @ikt 097 0.60 0.60 | # K-50P-800 |  0.44 2.0 1.7 0.55 055 | 0.028 1.0 0.6 0.6 0.43 1.94 | 0.0033 0.53 0.53 | 0.027
3| 0017605 |zitkiE 097 0.60 # K-50P-800 |  0.44 2.0 1.7 0.55 055 | 0.028 1.0 0.6 0.43 1.94 | 0.0033 0.53 053 | 0.027
4 | 0048872 |zitkiE 097 0.60 i K-50P-800 |  0.44 2.0 1.7 0.55 055 | 0.028 1.0 0.6 0.43 1.94 | 0.0033 0.53 0.53 | 0.027
5| 0017607 |AikiE 097 0.60 0.60 | # K-50P-800 |  0.44 20 1.7 0.55 055 | 0028 1.0 0.6 0.6 0.43 1.94 | 0.0033 0.53 053 | 0.027
6 | 0017609 |AitskiE 067 0.60 0.60 | # K-50P-800 |  0.44 2.0 1.7 0.55 055 | 0.028 0.7 0.6 0.6 0.29 1.34 | 0.0023 0.37 0.37 | 0.018
7 | 0042238 |AiskiE 067 0.60 0.60 | # K-50P-800 |  0.44 20 1.7 0.55 055 | 0.028 0.7 0.6 0.6 0.29 1.34 | 0.0023 0.37 0.37 | 0.018
8 | 0017610 |@itkiE 067 0.60 0.60 | # K-50P-800 |  0.44 2.0 1.7 0.55 055 | 0.028 0.7 0.6 0.6 0.29 1.34 | 0.0023 0.37 0.37 | 0.018
9 [ 0017599 |Aibskig 427 0.60 0.60 | # K-50P-800 |  0.44 2.0 1.7 0.55 055 | 0.028 4.3 0.6 0.6 1.88 8.54 | 0.0145 2.35 235 0.117
10| 0034470 |Aibskid| 427 0.60 0.60 | # K-50P-800 |  0.44 2.0 1.7 0.55 055 | 0.028 4.3 0.6 0.6 1.88 8.54 | 0.0145 2.35 235 0.117
11| 0035460 |A.bski| 427 0.60 0.60 | # K-50P-800 |  0.44 20 1.7 0.55 055 | 0.028 4.3 0.6 0.6 1.88 8.54 | 0.0145 2.35 235 0.117
12| 0017604 |A.bskid| 427 0.60 0.60 | # K-50P-800 |  0.44 2.0 1.7 0.55 055 | 0.028 4.3 0.6 0.6 1.88 8.54 | 0.0145 2.35 235 0.117
13| 0019566 |A.bskid| 427 0.60 0.60 | # K-50P-800 |  0.44 2.0 1.7 0.55 055 | 0.028 4.3 0.6 0.6 1.88 8.54 | 0.0145 2.35 235 0.117
14| 0052097 |Zibskig| 427 0.60 # K-50P-800 |  0.44 2.0 1.7 0.55 055 | 0.028 4.3 0.6 1.88 8.54 | 0.0145 2.35 235 0.117
15| 0026739 |Ribskid| 277 0.60 0.60 | # K-50P-800 |  0.44 20 1.7 0.55 055 | 0.028 2.8 0.6 0.6 1.22 5.54 | 0.0094 1.52 1.52 | 0.076
16| 0017611 |Aibskid| 057 0.60 0.60 | # K-50P-800 |  0.44 2.0 1.7 0.55 055 | 0.028 0.6 0.6 0.6 0.25 1.14 | 0.0019 0.31 0.31 | 0.016
17| 0017612 |Zibskig| 057 0.70 i K-50P-800 |  0.44 2.0 1.7 0.55 055 | 0.028 0.6 0.7 0.25 1.14 | 0.0019 0.31 0.31 | 0.016
18| 0017608 |A.kskid| 037 0.60 0.60 | # K-50P-800 |  0.44 2.0 1.7 0.55 055 | 0.028 0.4 0.6 0.6 0.16 0.74 | 0.0013 0.20 0.20 | 0.010
19| 0017615 |Zibskig| 057 0.70 i K-50P-800 |  0.44 20 1.7 0.55 055 | 0.028 0.6 0.7 0.25 1.14 | 0.0019 0.31 0.31 | 0.016
20| 0017616 |AiKiE 057 0.60 0.60 | # K-50P-800 |  0.44 2.0 1.7 0.6 06| 0017 0.6 0.6 0.6 0.25 1.14 | 0.0019 0.31 0.31 | 0.009
21| 0017499 |Aik# 057 0.60 0.60 | #& K-50P-800 |  0.44 20 1.7 0.6 06| 0017 0.6 0.6 0.6 0.25 1.14 | 0.0019 0.31 0.31 | 0.009
22| 0043959 |ZitkiE 557 0.60 i K-50P-800 |  0.44 2.0 1.7 0.6 06| 0017 5.6 0.6 245 11.14 | 0.0189 3.06 306  0.092
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